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Instructions :-

(i) ANl questions are compuisory.

(i) Reed esch question cerelully.

(Hi) Q. Nos. 1 i0 5 are objective type. Do as directed.
(iv) internsl options are given in Q. Nos. 8 1023.

{v) Marks aliotted lo sach question are mentionsd ageinst sach question.
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Y frwwy gty : 1X6=6
(i). #marst 4 st O wT wywR AHTTYAW (HCF) T

(a) 1 (b)0 (c) 36 (d) 13
(i), TRRFEABTTIPT o’ +bxec FgF aMT g7 AT @+ f W AR EOT
b b b
(@) - (®). - (c). - - (@). - =
a C a C

(ili). Yw e gwm ax+by+c, =0mmax+by+c, =0 svEgmammaf
Hog 8

a, b a b ¢
a) — = — b) — = — # -
( a. b, ()a_. b c
(C)E'—=§'—=£-'- (d) TRt 7 wré ot |
a: b: c:
(iv) AP: 4,2,0,.-2 garfsar ¥
(a) 2 (b) -2 (c) 0 (d) 4

(v). Py Fgm AMBC & DE|BC %) AD=x . DB =(x-2), AE = (x+2) mar
EC=(x~1) 7q x ¥ 9T 190
(8) 5 (b) 4 (c}3 (d) 2

1

vi). Rt A(x,. v, )t B(x,. v, )61 rems areft gy & s firsy 6 Frkurie 26

X, +tX, Y+, (x =x y +y
m'[ 22 ) L ]
(x +x, ¥ -V, X =X, ¥ -y,
@\ 2') ‘d"( 2 z']
Chooee the comect oplion:
(i). Highest Common Factor (HCF) of the numbers 4 and 9 is:
(a) 1 (b) 0 (c) 36 (d) 13
(i). ¥ aand g are the zeros of the quadratic polynomialax” + bx + ¢, then the value
ofa+flis
(8 2 (b) 2 (c) -2 (d) - 2
a C a C

(ili). The condition that the pair of linear equations a.x+b y +¢, =0 and
a,x+b,y+c, =0 has no solution is:

(a)_‘.;ﬁ. (b}f.i.—é_:.:i
a, b, a, b ¢
a b c

() +=—+=—+ (d) none of these.
a, b, ¢

(iv}.The common differenceinthe AP 4 .2 .0,-2 is:
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(vi). Rt A(x,. v, )t Blx,. v, )% firms aret o o oy v Frdwrre 7

X, kX, ¥V +Y. (x —x. y +y.
“’"[2'2) mk:':]

(X, +X% ¥y =¥, X -x, ¥y -y
(c). - - (d). -, .

L2 2 2 2
Choose the correct oplion:
(i). Highest Common Factor (HCF) of the numbers 4 and 8 is:
(a) 1 (b)0 (c) 38 (d) 13
(i). # aand g are the zeros of the quadratic polynomialax’ + bx + ¢, then the value
of a+ fJ is:
b b b
(8) - (b) - (c) - - (d) - £
a < [} ¢

(ili). The condition that the pair of linear equations a x+b v +¢, =0 and
a,x+b,y+c. =0 has no solution is:

i )
bl

L 2

(b)

>
oo

2|

a c
(c};‘—z—‘—=—'— (d) none of these.

» d&
n

(iv).The common difference inthe AP 4 . 2,0,-2 is:
(a) 2 (b) -2 (c) O (d) 4
(v). In atriangle AABC . DE|BC .M AD=x.DB =(x-2). AE =(x+12) and
EC =(x-1) then the value of x is:
(8) 5 (b)4 (c) 3 (d) 2
(vi). Coordinates of the midpoint of the line segment joining the points A(x, ., ) Jand
B(x.. y,) are:

X +x, ¥y +y, by, | FT % Yt
@77 3 L O
(x, +x. ¥ -y, (x, -x. v -V,
D\ T @ 733
oo vy witg: I1X7=7
(i) wrsm= .. ... X WTTRA + T |
(i) AN FfEft e raism oA ¥
(i) B AT ax” s bxsc=0F AT 20=........ |
(iv). 7/mav 9ft o ,a+d .a+2d.a+3d . ... ¥ aFtTT . |
2
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(v). T moft srgfaat B e s iR e TR AT AR AT s w A E

(vi) @ (4.0)........... T e |

(Vi AR TR EEwm AT IA R Fa=sf o7 sfA=ay v At 8
FHl in the blaniks:

(i). Dividend= .......... X Quotient + Remainder .

(ii). A polynomial of degree two can have maxmum .......... Zeros.

(iii). The formula for the discriminant of the quadratic equabon
ax* +hx+c=0is D= . .

(iv).The nrth term of the arthmetic progression a .a+d .a+2d.a+3d ..........

are called ............ figures

(vi). The point (4, O)lies on ...........axis.

{vii). A secant line of a circle intersects the circie at ............. points.

aft it e | 1x6=6

ww-(l) ww - ()

(). cosec’@~1 (a). !
cosdd

(ii). sec# (b). V3

(ii). 1-cos’ @ (). sm¥

(iv). cot30’ (c). 2

(v). cos(90-8) (d). sin“ @

(vi). cos48° cosecd2’ +sin 48" secd2’ (@). cot’ @

Match the column:

Column - (1) Column - (W)

(i). cosec’@-| (a). l
cosf

(ii). sec® (b). V3

(iii). 1-cos’ @ (c). sin@

(iv). cot30° (c). 2

(v). cos(90-8) (d). sin" @

(vi). cosd48" cosec42” +sin 48" secd2”’ (e). cot” 8

3
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s o / yrw F acdfRg 1X7=7
(i). fro o Rex & ague P(x) ¥ BT, vy = P(x) T TR Bram &
P(x) ¥ of=r%1 $} H%AT TG |

y-
cmPy @
$ v =Mxj
- - L T i)
v L ]

(i1). 3 =7t & s wftero w1 9w =7 Afaw

(iii). Frft e weftweer & Rfes w1 ome o= § A o gt ) ol 6
wrft ?

(iv). g7 €1 ofrfr w1 g AT |

(v). % & sraw ¥1 g% A |

(vi). 3,3,4,5, 5% ARiAT G760 T FIAT ?

(vii). Frsft P wzar € e v 9= fear anmr?

Anewer In one word / sentence:
(i). In the given figure. for the polynomial P(x) . the graph of y = P(x)is given. Find
the number of zeroes of P(x) .

y - aan
=iy B
L]
- . . - - 1 - N
L ] L

(i)). Write the standard form of the linear equabton in two variabies

(iii). If the value of the discnminant of a quadratic equation is zero, then what will be
the nature of its roots?

(iv). Write the formula for the circumference of the circle.

(v). Write the formula for the volume of the cone.

(vi). What will be the arithmetic meanof 3, 3, 4,5, 57

(vii). What is the value of the probability of a certain event?

4
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5. v/ wawy fafag: 1x6=6
(i). = wATArE gty g s p B ey g mf qffre oot st
g roaR e a=hgsr 0sreb ¥

(i), T ETerTER = 20 WAL R W r A O A B
(i) Ty Aepd qw = 207 v B, wwt £ AR € A
(iv). STOTE, TEEE UF AT € W AAy ¥ 2 ATV = YA +3 "N

(v). frsft € sy ook Tt gy ft 8|
(vi) TRt fefiermr €t e PETTO< P <

Write True / Faiee:

(i). Given two positive integers ¢ and b, there exis! unique integers ¢ and -
satistying a=bg+r 0sr<bh .

(ii). Area of the circle is = 2.o°, where r is the radius of the circle

(iii). Total surface area of the sphere is = 2" , wherer is the radius of the sphere

(iv). The relationship between median, mode and mean is.
2 median = mode + 3 mean

(v). There can be infinite number of tangents to a circle

{vi). If the probabilty of aneventis P then 0<s P <.

6.  mx fazrt fo ¥ T 420 wry € 7wt i 130 wmw 6 T 8| o oy
rft afrat =T el § e e TR 8 Tt € s T v e ot
wff F Ty # S v 97 | T ww ¥ A e 1A 8 Rt ot ol
AT AT £ 7

A sweet seller has 420 kaju barfis and 130 badam barfis. She wants to stack
them in such a way that each stack has the same number, and they take up the
least area of the tray. What is the number of barfis that can be placec in each stack
for this purpose?
s/ or

reitr ¢ grry wATEE A e 2g ¥ =7 W o § v TRre g f
ToTHE 2¢ + ¥ =T wT g &, wwt gwrt gute § |
Show that every positive even integer is of the form 2y . and that every positive odd
integer is of the form 2g + 1. where ¢is some integer.

7 P TgT x° + Sx+ 6 € o=rw Wy € 2
Find the zeros of the quadratic polynomial x* + Sx+6

S

https://www.mpboardonline.com



10.

yaxT/ or
% Framy 3y A € Ok et & o sl e wEwe 5 T2 #
Find a quadratic polynomial whose sum and product of zeroes are 5 and 2
respectively.
AP STiawrmr AT rrfeTaa r g =5, arbsar d =-S5 |
Write the first four terms of the A.P. whose first term is a = $§ and common
differenceis d =-5.

AT/ of

AP:2, -2 -6.-10.,.......... & 37 917 7% AT |

Write the next four terms of the AP: 2. -2, -6, - |0...........

10 m 73t m #ft ow frrr 07 P 97 g 7 8 m € St 07 Ry o fApdh 2
% Tt & | T & s & A ® Py B € oo arr €far |

A 10 m iong ladder resting on a wall reaches a window at a height of 8 m above the
ground. Find the distance of the lower end of the ladder from the base of the wall.

qqqT/or
sefx & DE||BC¥| ADwrx €ifam |
A

D 18 cm
1.2 cm ¥

Lim

In the figure DE || BC. Find AD.
A

1A cm
1lem ¥
B- fiem
L
k w gra s €1Fw, aft @y A(2.3), B(4.k) s C(6.-3)5rft ot | 2
Find the value of & if the points A4(2,3), B(4,k)and ((6,- 3)are collinear.
qqur/on

6
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x oy # oy waw wrA © 1 anfE iy () Rt 0L ol 3, 5)

R SEYT AT

Find the relation between r and y so that the point (x. ) is equidistant from the
points (7. 1) 37 (3. 5).

11, =fxfly 4(6.1), 88, 2),C9. 4) 7 D p. 3) 7% AuTAT wdT ¥ ofnf oft ww & 2
7t M p w1 wrR Ay € |
If the points 4(6.1), 8(8. 2),C(9. 4)and D p. 1) are the vertices of a parallelogram,
taken in order, find the vaiue of p.

v/ or

iy (4. 6) g 4-6.10) 87 B3, -8) ¥ 3727 a7 Ty o few s F fenfa
Lzl &
in what ratio does the point (-4, 6) divides the line segment joining the points
A{-6,10)and B(}, -8)

12, cot85° +cos75" #1 0° #7 45° ¥ fra & w1l ¥ PAawfafig st s ot F e

| 2
Exprass cot8S® +cos75° in terms of tngonometric ratios of angies between
0" and 45"
ST jor

T secd A =cosec{A-20") , Wt 44 TESAOY § AT 4 w1 577w A |
If secd A =cosec{A-20") , where 44 is an acute angle, then find the value of 4.

13, froar 4 om A e gw ¥ vy w1 dres oy ©fie fore e 30° # 2
Find the area of a sector of a circle with radius 4 cm if angle of the sector is 30"
T /o
wref® # grarfer s v srres sy §fw, ft ABCD T 14 om w1 ow o § may
APD 7 BPC =1 anfyr ¥ |
A

?
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Find the area of the shaded region in figure, if ABCD is a square of side 14 cm and
APD and BPC are semicircles.

D

14. % sr F 5 AT %9, 8 WEx ¥ 7 4 w7 W ¥ | v sy o W ow wewy Avymam 2
Ay a | R AT iRt e g s A 47
A box contains 5 red marbles. 8 white marbles and 4 green marbles. One marble is
drawn at random from this box. What is the probability that the marble is not green?
wqwr / or
"1 M3 g R w e v S | (i) 4 3 oft sy gve i 6 ey w62
(i) 4 7 &4 7 T% TTTET T TR 1 €T R e 2
Suppose we throw a die once. (i) What is the probability of getting a number
greater than 47 (ii) What is the probability of getting a number less than or equal to 4?7
15.  mx fex arr v € arfreer smy @fre, xw ve fg wr re o TaTAT AT R | 2
\Tq i1, 7w 7z gre v € o mrfre
Find the probability of getting a head when a coin is tossed once. Also, find the
probability of getting a tail.
nqeT/ or
=t fyemfY sifror altr roray 23y wr v e e | o wy & B s g
Frrr € arfrear 0.62 £ | vy ¥ i B T e £ 7
Two players Sangeeta and Reshma play a match of tennis. It is known that the
probability of Sangeeta winning the match is 0.62. What is the probability that
Reshma will win?
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16. wWfeTer 65’ - x -2 =0 w1y ffam 3
Solve the equation 6x’ ~-x-2=0

T/ or

P wofreTer ke(x - 2)+ 6= 0 ¥ & %7 uy 5V wre e Arey wefrwew
® AT TR qA At
Find the value of k so that the quadratic equation kx(x - 2) + 6 = 0has two equal roots

17. = set areft fesft stwmmd? 5 % frgrow 7 3
How many two digit numbers are divisible by 57
oaT/ of
aeft 7,143,109, ..., 205 # it € sy wry €fao |
Find the number of terms in the series 7, 13, 19, ........., 205.
18, ﬂwﬁ*%=%tmﬁ’w=zmg ¥ | frz €fam fe Appr ™ 3
frary Arqa k|

Py PT
In figure S‘—(_}:ﬁaw LPST = ZPRQ . Prove that AP(R is an isosceles lriangle.

wqar/or
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19.

20.

aft w1 T vw A4BC € qATH 48 W7 A4C ©rwmw: D M7 £ a7 wfFsmr ¥

. L . A AE .
TQT T BC F Ay a1, Mg fifar f Ti:Ti T |

A

D ¥

C

If a line intersects sides A8 and AC of a A48Cat D and E respectively and is

parallel to BC, prove that 22 - A£

48 AC
A

frgffr A meh Ao rmi g r i e s rft e 3
Prove that, “The tangent at any point on a circle is perpendicular to the radius
through the point of contact.®

yaar/ or

i A ArEm s EasSomivd ot &t aom ¥ |
LR IRLELIR AL R A1 E L

From a point, which is al a distance of 5 cm from the center of a circie, the length of
the tangent to the circle is 4 cm. Find the radius of the circle.

Hors mfrern g 4
2x+3y=4

x+dy=13

w7 wfAwarr e o oy €1

10
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21.

22.

Solve the pair of linear equations

2x+3y=4
x+2y=13
by substitution method.
AT/ or
p ¥ amt v A e mfremt s gm e e wfifo e
dy+ py+8=0

v 2x+2y+2=0

For what value of p the pair of inear equations has a unique solution:
dx+ py+8=0

and 2x+2y+2=0

7.6 cm =T my Ty iR o v 5.8 wpTre @ fanarfaey frfa | 4

Tt qTTt ¥ HTY |

Draw a line segment 7.6 cm long and divide it in the ratic 5.8. Measure both parts.
AT/ of

4cm, 5 cmsfT 6 cm It W e fing € T @ o R re e e

m&wﬁm%,ﬁﬁﬁ&vwﬁvﬁmpﬁtﬂ% T ot |

Construct a triangle of sides 4cm, Scm and 6cm and then another triangile similar to i,
2
whose sides are ; of the corresponding sides of the given triangle

o wat, firrdt 7 e w1 s 64 om' R, ® wory et fasrer oy Sy e
WTAT & | TN TR WATH €7 7AW a4 wry 6y | 4
A solid is formed by joining the adjacent faces of two cubes, each of volume 64 cm '

Find the surface area of the cubo:d obtained from it.

N / or
gty oAy et fdy o St 24 om i s T 6 om e e oy AT T B
T Ty T A ¥ wrerr & e frgr | v € Fre wry €fam |
A cone of height 24 cm and base radius 6 cm is made from the model making clay.
A child turned it into the shape of a sphere. Find the radius of the sphere

11
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23. RAwfAfra arroft 35 awrvt € smwrray 77 (e o) ooty & 4
T | 45-85  55.85  65-75  75-85 | 85-95
(% =)
et €
T

wTeT ATTAY 77 Wy b |

The following lable gives the literacy rate (in percentage) of 35 cities. Find the mean

3 10 11 8 3

literacy rate.
Literacy
, 45-55 55-65 65-75 75-85 85-95

rate (in % )

Number of

3 10 11 8 3
cities
wauT/ of

fargrfiat ® e oy gy e g 20 afrerrt o e e e i gy
frfirg afrart & serert € s @ sy RrwfA ey stee g e

Tt arT 1-3 3-5 5-7 7-9 9-11
nfrart 1

. 7 8 2 2 1
T AT ¥ TEAE Wy frfo

A survey conducted on 20 households in a iocality by a group of students resulted in
the following frequency table for the number of family members in a househoid:

Family size 1-3 3~5 5-7 7-9 9-11
Number of
7 8 2 2 1
families
Find the mode of this data.
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